Gleichungen III
LOSUNG NR. 4-10

4) 10x—7 (x—7) =5+ 15x + 8
10X — 7x + 49 = 13 + 15x

3x + 49 =13+ 15X | — 3X
49 =13+ 12x | - 13
36 = 12X .12
3 = X

5 8x+3-5x+29=50

3x + 32 =50 | — 32
3X =18 [:3
X = 6

6) 6(x+7)+21x—-98=13x + 14
6X +42 + 21x—-98 =13x + 14

27x — 56 =13x+14 | -13X
14x — 56 =14 | + 56
14x =70 | .14
X =5

7) 8x—-11(x-4)=4+2(11-8x)-21
S8Xx—-11x+44=4+22-16x-21

-3X + 44 =5-16x | + 16X
13x+44 =5 | — 44
13x =-39 [:13

X = -3




8) 3+(4-2x)(4+x) =6+ (2+2x)(2-x)-57
3+16+4x—8x B2 =6+ 4 — 2x + 4x B2R8 - 57

19 — 4x B2X2 = 7+2xBR |1 +2x2
19 — 4x = -47+ 2X | + 4x
19 = -47 + 6X | + 47
66 = 6X |: 6
11 = X
9) 5+(6-4x)(6+x) =11+(4+4x)(4-x)—-16

5+36+6x—24x AR =11 + 16 — 4x + 16x B2 - 16

41 — 18x BER2 =11+ 12x R | + 4x2

41 — 18x = 11+ 12x | + 18X
41 = 11 + 30x | - 11
30 = 30x | : 30
1 = X

10) 3+ 25x2+ (6 —5x%) (5+6x) =10+ (4 + 5x) (5—X) + 83 + 30x
3 25X + 30 + 36x — 25x BIBOX2 = 10 + 20 — 4x + 25x BBX8 + 83 + 30x

33 +11x H5%2 =113 +51x BB | +5x2

33 + 11x = 113 + 51x | —11x
33 = 113 + 40x |—113
-80 = 40x | : 40

-2 = X



